& Cambridge Audio

A500

Integrated
Amplifier

Schematics & Bill of
Materials

Gallery Court Hankey Place London SE14BB UK
Tel: +44 (0)20 7940 2200 Fax: +44 (0)20 7940 2233



Cambridge Audio A500 - A500/s Difference BOM

AP11759/1

INFRARED SENSOR SBX1910-52

ADDITIONS
FACTORY PART NO DRAWING NO DESCRIPTION COMMENTS
AP11727/1 A500/s OWNERS' CERTIFICATE
AP11655/2 A500/s CARTON LABEL (MODEL NO.) FOR BOX
TO BE SPRAYED SILVER (PAINT SPEC AS APPROVED
AP10209/1 CAMBRIDGE SELECTOR KNOB MK3 BY STEPHEN YEUNG)
TO BE SPRAYED SILVER (PAINT SPEC AS APPROVED
AP10208/1 CAMBRIDGE VOLUME KNOB MK2 BY STEPHEN YEUNG)
TO BE SPRAYED SILVER (PAINT SPEC AS APPROVED
6040-010103-000 AP10028/1 CAMBRIDGE POWER KNOB BY STEPHEN YEUNG)
MODIFIED TO DRAWING AP10019/3, COLOUR SPEC
6510-150241-000 Al TOP COVER (MODIFIED) AS PER ESR 349
A500/s FRONT PANEL (PUNCHED AND PRINTED) ZR;I:\:IESZWITH ARTWORK API1626/2 AND
AP10269/2 AMPLIFIER FRONT PANEL WITH RC & TD FINISH AS PER ESR1363
A500RC REAR PANEL (PRINTED) PRINTED WITH ARTWORK NO. AP10294/1
AP10276/1 AMPLIFIER REAR PANEL WITH IEC, 8RCA, 2 SPKR FINISH AS PER ESR1349
AP10246/5 CAMBRIDGE CLEAR REMOTE EYE
INFRARED SENSOR SBX1910-52 NOT TO BE COLOURED BLACK
BLUE POWER LED APPROVED SAMPLE ESR1337
7003-006001-111 SCREW M3X6 S.T.P. B/H (SILVER) ;,?SPE():gyER TO REAR PANEL X2/REAR PANEL TO
7003-006001-131 SCREW M3X6 S.T.P. PW/H (SILVER) TOP COVER TO BASE (L& R) X4, AS PER ESRI359
BOLT M3xI0B/H IEC TO REAR PANEL
SPEAKER TERMINAL TO REAR PANEL X6/RCA
7003-008002-111 SCREW M3X8 P.T.P. B/H (SILVER) TERMINAL TO REAR PANEL X4
SUBRACTION
AP10463/1 A500RC OWNERS' CERTIFICATE |
AP10281/1 A500RC CARTON LABEL (MODEL NO.) | FOR BOX
AP10209/1 CAMBRIDGE SELECTOR KNOB MK3 4
AP10208/1 CAMBRIDGE VOLUME KNOB MK2 |
6040-010103-000 AP10028/1 CAMBRIDGE POWER KNOB 3
6510-150241-000 Al TOP COVER (MODIFIED) | MODIFIED TO DRAWING AP10019/3
6510-150241-000-XXXX CAMAI07D Al TOP COVER |
AP10304/2 AMPLIFIER SUB-PANEL WITH TD & RC |
AS500RC FRONT PANEL (PUNCHED AND PRINTED) | PRINTED WITH ARTWORK AP10286/1, AP10287/1
AP10269/2 AMPLIFIER FRONT PANEL WITHRC & TD |
AS500RC REAR PANEL (PRINTED) | PRINTED WITH ARTWORK NO. AP10294/1
AP10276/1 AMPLIFIER REAR PANEL WITH IEC, 8RCA, 2 SPKR |
AP10246/4 CAMBRIDGE REMOTE EYE |
|
|

LED TRI-COLOUR (ORANGE/RED/GREEN) 3mm

PIN-OUT AS PER AP10451/1

7003-006001-111

SCREW M3X6 S.T.P. B/H (SILVER)

TOP COVER TO REAR PANEL X2/REAR PANEL TO
BASE X7/

7003-006001-131

SCREW M3X6 S.T.P. PW/H (BLK)

TOP COVER TO BASE (L& R) X4

BOLT M3xI0B/H

N A~ O

IEC TO REAR PANEL

7003-008002-111

SCREW M3X8 P.T.P. B/H (SILVER)

)

SPEAKER TERMINAL TO REAR PANEL X6/RCA
TERMINAL TO REAR PANEL X4

Note: resistors, capacitors and other 'generic' electronic comp are not Ily stocked by the manufacturer. Please obtain these locally. 2




+30REG +45V
O RED
D207 D210 FU202 T4A
U203
LM3I17 IN5402 IN5402 —————————O ORANGE
v U = L s
7 D208 D209 100n
R233 <
o C234
* - * + + + IN5402 1N5402
C236 C209 C211 C208, FU201
47(,;:25!,\,3 g =212 g 2200uF g 2200uF g 2200uF g zzooL.Fg CN203 O YELLOW
. 1o o | C242 J__(,:m A
R232 O | +40V/UNREG
3K6 7 1°] oo
TIOO” REMPSU TIOO”
R235 J_
3Ke 3 -
C214 I:I)r 215 I___]+ <:2|6|—_—+| C243:|+ C229|:|+ C230— e
470 sov 5SS == o s 22000F ey 22000F [eeey 22000F [roeyg 22000F ——)
R234 - 100n
160R 5
<
7 1 2
U204
LM337
C210
-30REG 45V D D
0.1uF 100V
R267
—T
47R
GND CHASSIS GND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY
| SAPI5SN/P POWER AMP NF
The Audio Partnership :
Gallery Court 2. SHEET TITLE 3 DATE 29/12/98
Hankey P
LONDON SEI 485 j POWER SUPPLY
Tel: +44 (0)171 940 2200 ) DRAWING No. PAGE CHECKED BY
Fax 144((0)“7\ 9402233 5. ° AP10687/2 1/3




A\ +45v

R237 47R
. .
R243 R242 il i'
820R 390R c219 217
SZ\)& D211 100uF 63V 100uF 63V
LED-RED — C218 T
Q14 5= a7 B
Q213 MJE350
MPSA93
R24| R236
e | @ = < oo
ww D212 A4
IN4148 R238 s
H R244 H R249 = ZES - D
I5R I5R GND Q25 R239 0205 | |5 i
c2l R263 MPSA43 270R OUT-R R264 a0 3w  OUTRI
‘ZPF e K240 RV202
1UF NON POLAR 3R WW .
R248 _ ¥ an on Yy R262 €220 L ] 1ok w202 Chz0z:B
][ ISP = s 1e e b
CN204 226 10-20 TURNS
R246 R258 SPRRA-WAY
RN | 04— R266 R247 07 R R261
GND | O 330K 33K Py R260 4R7 IW
SIGNALIN TI P Q216 — SAPISP = ww
C228 MPSA93 270R w206 | |°
1 ol 0220 100uF 63V R259 H ? cm
= 2K 0.1uF 100V
" MPSA43 D215
GND Mpwap/ A GND — R254 IN4148 R256 :
T —T h—
T00R R -
GND
Q219
MJE340 D214
R250 R251 B IN4004
&R 82R — R255 c
C225 3K
R265 100pF Q218
— MPSA43 c22
T00R < L —
D216 N =
Q217 piope-zen NP 47pF
MPSA43 BV=3V3 600mV
R252
4R
R257
L T i
I
C224 C244 V-
100uF 63V 100uF 63V
+ +
GND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY
| SAPI5N/P POWER AMP NF
The Audio Partnership - WW- WIREWOUND
Gallery Court 2. 22 WG TINNED COPPER WIRE FOR WIOI SHEET TITLE | pate
Hankey Place 3. RIGHT CHANNEL 29/12/98
LONDON SEI 488 p
Tel: +44 (0)171 940 2200 : DRAWING No. PAGE CHECKED BY
Fax: +44 (0)171 940 2233 5 AP10687/2 2/3




AN\ +45v

R229 4R
R —
R207
820R i%ga L C24| L C240
SZ\\N D201 100uF 63V 100uF 63V
LED-RED — C239 e
47pF B
Q205 Q206
MPSA93 MIE350 —
R231 R228 ©ND R230
4K7 3W TR e 7~ D203
ww D202 \V4 IN4004
IN4148 R227 S
R206 R205 - 2K
ISR I5R GND Q207 R225 SL’J‘;'OST‘
D E
C204 R209 MPSA43 270R R224
outL 2R2 3W ouTLl
12pF R226
IuF NON POLAR R203 D/ \Q R2|0220R 3R s A+ RV20! ww CN202:A
100R
% — g 2] = 2 %[ - e
CN20| c201 Iil RO04 RI3 10-20 TURNS o
LN | O R201 R202 C202 1K E R211
GND | O 130K 33K o R214 4R7 3W
SIGNAL IN l—‘__l . Q208 — saeise[ 5 £ ww
C203 MPSA93 270R U202
J_ 100uF 63V R212 |:| C205
L Q202 Q201 D205 2K T‘ 0.1uF 100V
. MPSA43 IN4148 s
oD M } [\q GND — R2I7 R216
1 1
T00R 4R =
21 GND
C235 Ssm D204
R221 R220 — B IN4004
82R 82R —= R223 c
T00pF s
R222 Q210 €20
I— MPSA43 —
100R 7\ D206 — —
DIODE-ZEN 47pF
Q209 BV=3v3 600mP NP P
MPSA43
R219
4R
R215
A,
4R zlz
€207 C237 Vv
100uF 63V 100uF 63V
+ +
GND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWNEY
SAPI5N/P POWER AMP
The Audio Partnership | ww- wirewounD
Gallery Court 2. 22 WG TINNED COPPER WIRE FOR W30 SHEET TITLE 5| DATE 29/12/98
Hankey P!
Lgnr\jgyorjc;El 48B i LEFT CHANNEL
I:l a:n((()o))|l77|I 2;%2222%% s DRAWING No API0687/2 PAGE 303 CHECKED BY




RiGHT CHANNEL CNI3:A 2_PRE-OUTR v+ BUFF u7
RCA SEE NOTE 4 SW2:A 78L15 AN\ +I5VREG
—PRE GND
CNI3:C - 5 MDTAPE2R SOURCE : L {w vo -2
: <§> T SWI:A
RCA 4 \ TAPE Clé 2 17
o % +
z CNI2A /) 2 TUNERR ° ~ — 3 C3c|s
g RCA T \Oj ° ~ 2
2 ° 100n 470F 100n
Q CNI2:.C @ 5 CDR
z
RCA EAN
L TJais «|Cl4
CNITA {O)—2AvDVOR - 3 ~ — c=ac|5
RCA I\ PRE GND - 222%17 . 100n
100 u
CNII:C /) 5 _AUXPHR OLIQ o ; ¢ |
RCA 4 \Qj v VO
Cl9 | RI2
100n 28 CNIOA @ 2 TAPEOUTR A\ +30VREG us V -I5vREG
RCA &/ V- BUFF 79LI5 SEENOTE 4
CNI0:C 6\ 5 TAPEINR
ReA A\ ¥isVRESTR) | V¥ BUFF zz%é% CNI CN7
RI4 AL, 58698 CNS8 ; O | +30vREG +30VREG | O :
- 600R Tk CN6 00000 ? O | RCH -30VREG | O
— PHVI 3 4
- | —O [ GND GND [ O
—O | V+ BUFF 4 3
3 2 N P N N O | LcH GND | O
O | PRER 5 2
RI0 3 15 | rrechD | 6 19O |eNe GND | O]
2 410 | rrec 3 ROUT — O | -30VREG GND | O
5 RIN
,,,,,, . 1k >—-O [ PREGND 3 GND SIGNAL OUT PHONO PSU
LEFT CHANNEL N [© | V-BUFF 4 GND —
CNI3:B 3 PRE-OUTL — 2 -
RCA O I _| PRE-OUT 2 LN SW2:D
RI3 6o0r V -isvReg  PREGND — —_— T Souree
CNI3D 5 6 MDITAPEZL SEE NOTE 4 V- BUFF — SWIB Y -30vReG
RCA —O\ TAPE
CNI2:B 3 TUNERL : o—
RCA o ° o
CNI2:D
(@) sl +V UNREG +30V MOTOR +5VREG
RCA ul U3 A
CNII:B O 3 AVDVDL , LM317 R ‘ 78L05 ,
RCA v VO v VO
= o
CNII:D @ 6 AUX/PHL OLKI o 2 &
RCA
_ R2 ~
CNIO:B O 3 TAPEOUTL 160R + + c7 Clo
RCA im0} —=C5 C6 ca
— ESSY ——1 1000 47F SN 3
CNI0:D @ 6 TAPEINL 100n cl ¢ 100n 100n
Rea cN2 RI 10uF
+30V MOTOR e
+V UNREG | O
R3 R4 R5 crassis | O
33 330R2W K3 L= 2
D2
+SVREGA\
IN4148
D4
1 N RO R&  U4A U2 \
J 4l CN4 M2 U4E 2M2  VCC=+5VREG | R2 RAI [—— X|
IN4148 | D7 : D8 GND=CHASSIS I R0 e CRYSTAL
+5v| O —=— RTCC CKIN
2 1 Il 0 | 2 3 | 5 FREQ=4MHz
OPT| O 3 N N 7 MR CKOUT "
Chassis | © IN4148 IN4148 B Vb -
D5 == 74HC14 74HC14 > 60 o7 = = =
D3 C4 REMOTE R81 Ree |2 c9 @]
BZXS5C 5V6 = jo0n D6 g— R62 R8s (') = 0pr 7 220
IN4148 = IN4148 p 5| e RB4 | CN5
CN3
Ql VOTOR Q4 IN4148 PICi6Cs4 R6 220R ; O | Lepl
VNIOLM VNIOLM Cll —c|2 SO | crassis
ww 1
27 10nF 10nF 1 O | LED2
R7  220r LED
LO CHASSIS
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWNEY
The Audio Partnership |. CN6 FORVI OPTIONAL PHONO STAGE INPUT PCB WITH PRE-OUT AND R/C
Gallery Court 2. CN5 FORV2 OPTIONAL PHONO STAGE SHEET TITLE 6 DATE
Tg"’\“‘gg"\‘f’ga . 3. CUT LINKS | &2 WHEN FITTING PHONO STAGE COMPLETE PCB 31/07/98
4. COMPONENTS NOT FITTED IN POP REV B
Tel: +44 (0)171 940 2200 DRAWING No. PAGE CHECKED BY
Fax: +44(0)1 71 940 2233 5. AP10261/2 1/1




Cll1é6

2p2F VRIO2:A
RITI 100k
1 |
130k
RI09 — R108
|:| 39k — clo7 |:| 39% SW102:B
RI12 . 330pF L 5
47k 5 z DEFEAT
+
. RI02 R104 RI05
U105:B |:| 3% H 3% |:| 3% Cl08
NES5532
VRIO3:A
VRIOI:A 100k
100k
I VRI04:A
|] I:I 20k
Cln LCHOUT
33n ul02:B
NE5532
’ U106 U103
78LIS VAl 78LIS VA3
! v VO 3 ! Vi VO 3
Cl19 9 ClI8 |+ Cl10 9 Cll |+
ul  m— ul
irdine 8 100n 2 ITlom ETS 7 100n ~ ITIOOn ETS A7 -0 | +30vREG o | rReHouT 2 g LIRS
A ——1O | GND 0 | GND 3
GND | 01— 22 15 [and i O | e TR D
LCHIN | O I ClI3 ClI5+ IC105 Cl06+ 3 10 |-sovres J_ O | LcHout 5 19 | LeHour
oND | © I - = - CNI05 4 — [ e Q|
-30VREG | O Cll4 Clo4 PSUIN - SIGNAL OUT O | -30vREG
= oo 9 o B 9 F e E RIIS
SIGNAL IN 4 100n 100n F4 100n : o — 4 PRE-OUT
2 1y vo | 2 fy vo L 3 2 1K5 (1W) :
=)
ulo4 VA2 ulol VA4 SEENOTE |
79L15 79L15
Cl20
[| D 230V FI0I=T2A
115V FI0I=T4A
2p2F VRI02:B SWI0I
RII3 100k ) o/ ) Fl0l LKIT1
T30 5 Lo s — O BROWN
RI10 R103 izl
—
N VA2 |:| 39k — Cl03 |:| 39 SWI0ZA o
RIl4 330pF L— 001uf :
JALLI, 2 | AC 3
by | BLACK @
s |, DEFEAT g
1 A UIOSA H RIOI H RI07 H RI06 F
NES532
VRI03:B
100k NGO O BLUE/WHITE
VRI104:B
20k
H RCH ouT
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY NE
The Audio Partnership |. CNI05/RI15 NOT FITTED TO RC PRODUCTS TONE PCB WITH TONE DEFEAT
Gallery Court 2. SHEET TITLE DATE
Hankey Place 3. COMPLETE PCB 08/09/98
LONDON SEI 488 4
Tel: +44 (0)171 940 2200 : DRAWING No. PAGE CHECKED BY
Fax: +44 (0)171 940 2233 5. AP10230/3 1/1




Cllé

5pé6F VRI02:A
RILI 00k
I
130K
R109 R108
19K Clo7 e SWI102:B
RI12
(] -
47k 5 L DEFEAT
+
. R102 RI05
U105:8 |:| 39% |:] 39 Cl108
NE5532
VRIO3:A
VRIOI:A o0
100k
— VRI04:A
20k
Clo2 LcHouT
33n ul102:B
NE5532
i U106 U103
78L15 VAI 78L15 VA3
! N VO 3 ! v VO 3
Cl19 9 ClI8 |+ ICl10 ] ClIT |+
CNIOII — 5 Cll7 == ° cl09 CNI102 CNI104 | CNI03
— u ¥
sl 1T 7T 7 - =T o] o o] i 3 |inese
GND | O ’ Y—LT—Q GND 2 10 |anD 9 |she
LCHIN | O I Cl13 - IJ__(I] |5$ I£I[05 - lJ__(I:l()éé ; ; 3 JOVREG 315 | Lchour O [ LcHout
GND | O — Cll4 Clo4 | CN105 : 4 — 4 O | GND
-30VREG [ O — — - o — " il i PSUIN = SIGNAL OUT O | -30VREG
SIGNAL IN - oon 3 100 ! 100n 4 100n R g i I:IRl 5 L PREOUT
2 1w vo [ 2 1 vo | ) 2 1K5 (1W) -
U104 VA2 ulol VA4 ; SEENOTE | ‘
79LI5 79LI5
Cl120
230V FIOI=T2A
VRI02:B SWIol 115V FI0I=T4A
5p6F :
RII3 100k o Flol LK1 o
JALLE — L o BROWN
Y5 K POWER SATIA
RI10 RI03 clal
—
R| 14 N VA2 3% — golp?:a 39 SWI102:A )
Al 2 [ | o ac 00Iuf " %
47k 3 + DEFEAT %
w UIOSA H RIOI H RI07 RI06 g
© ) 3%
NE5532
VRI03:B
100K N O O BLUE/WHITE
VRI04:B
20k
RCH OUT
© COPYRIGHT GENERAL NOTES DRAWING TITLE ‘ DRAWNEY |\ -
The Audio Partnership |. CNI05 /RI15 NOT FITTED TO RC PRODUCTS TONE PCB WITH TONE DEFEAT
Gallery Court 2. SHEET TITLE DATE 11/06/98
Hankey Place
LONDON SEI 483 3 COMPLETE PCB
Tel: +44 (0)171 940 2200 : DRAWING No. PAGE CHECKED BY
Fax :44((c))|7| 9402233 5. AP10230/1 1/1 ‘Q

O




RIGHT CHANNEL |

. : 2 _PRE-OUTR v+ BUFF u7
SEE NOTE 4 SW2:A oS A +IsvReG
— PREGND SOURCE | 3
@ 5 _MD/TAPE2R SWIA v vo
4 TAPE o
o o Clé 3 +|CI7
% [\ _2 TUNERR “~ —cl|8
T @ ° ~ —
2 —o Toon 2 100n
? 6\ 5 _CDR
o 4
N\ Cl3 +|Cl4
@ 2 _AV/DVDR - Ld —c|s
1\ PRE GND e |
700N o 470F 100n
6\ 5 AUX/PHR LK2 2 g |
ciz2 | rRio * N~ 71 0 1 ! il
100n 28 CNIOA (O)2_TaPEOUTR A\ +30VREG us V -isvReG
RCA —O) | V-BUFF 79L15 SEENOTE 4
CNI0:C @ 5 TAPEINR
RCA AN~ 055 CN7
FISVREG Ry Vi BUFF 22923 .
R8 Jzbie CN8 +30V REG +3OVREG | O4—
4 600R CNé6 000009 | [mwi RCH -30VREG | O1—
- L Lo |v+BUrF CN9 GND GND | O
2 I N PHVZ LcH GND | O
O | PRER 2
3 16 | PrEGND | GND GND | O
410 | rrel 79 | ROUT -30V REG GND | O
> 16 | PrEGND D SIGNAL OUT PHONO PSU
6 1o |v-Burr 2 [9| oD 4
LEFT CHANNEL CNI3:B 3 PREOUTL 5 O [ GND —
ReA O 1 PRE-OUT >0 | uN SW2:D
RO soom % (ISVREG T vesber = I owe V -30vReG
CNI13:D D) tomareaL - - SWI:B )
RCA \ TAPE
CNI2:B
en ) TUNERL o N
—o
CNI12:D
@ 6 DL +V UNREG +5VREG
RCA ul U3 N
CNII:B @ 3 AVDVDL s LM317 drcpsvolm,gem~2I5V \ 7805 R
RCA v vo vi vo
—_ [a}
CNII:D @ 6 AUX/PHL LK1 g g
RCA 0—>05
B R2 N
CNI0:B O)—TarEouTL 220R + + C7 |(Clo
RCA —c) [ | e O Ce—m 1 o
—= ESSY 7 100n F SN OO 3
CNI0:D O 6 TAPEINL 100n cl h 100n 100n
RCA RI
U4 CN2 e 10uF
BAc218 +V UNREG |
cHasSIs | O
o 8ofxE ?
1%
z8zvg¥383 RCPsu +5V REG
P P I oo +5VREG A\
U2
CN4 [+5vV ™ s
O ; ;— RA3 RAD 2 D Xl CNS5
@ H ERET ol a
=4MHz
O DI 2?( ; CSCSLR CK%; _;_ M
100n REMOTE 4148 = reo Re7 (13— 9 =8 CONN-H2
Z ol T = 220k 5 220f R3
" —g RE3 re4 —O | BC337
PICI6C54
4
CN3 100n
MOTOR
ud o
DOWN I—o CHASYS
© COPYRIGHT GENERAL NOTES ‘ DRAWING TITLE oRAWNEY | o
The Audio Partnership |. CN6 FOR VI OPTIONAL PHONO STAGE INPUT PCB WITH PRE-OUT AND R/C
Gallery Court 2. CN5 FOR V2 OPTIONAL PHONO STAGE SHEET TITLE DATE 03/08/00
TS"':;YC;’I'\TC:EI . 3. CUT LINKS | &2 WHEN FITTING PHONO STAGE COMPLETE PCB /08/
. COMPONI T FITTED IN PO
Tel | +44 (0)171 940 2200 4. COMPONENTS NOT FITTED INPOP REVE DRAWING No PAGE CHECKED BY
Fax: +44 (0171 9402233 5. AP10261/4 I/1

]




+30 REG +45V

O RED
D207 D210 FU202 T4A
U203
LM317 IN5402 I1N5402 —————— (O ORANGE
e e g €232 (O CHAsSIS
R233 ) D208 D209 106n
oo - C234
C213 :|+ = I:I+ C236|:|+ C209|:|+ Q2] ][—_—1+ C208— 402 02 FU201 O veLLow
5SSy r C212 ASSY 2200uF sy 2200uF sy 2200uF sy 2200uF
470F sov. 5SS o SN Y [S\N SN |_—_I|Oon 42 CN203 l_l_cl: 233 =
R232 ; +40V/UNREG
3Ké6
‘T'oon > oND ‘T'oon
REMPSU
s 1
3K6 3 -
C214 = — 215 = C2165 C243 L5 C22915 C23015 e
ATGF 50V == joon 2200uF 2200uF 2200uF 2200uF ——
100n
R234 B
160R T
3 VO v 3
U204
LM337
C210
-30 REG 45V D H
0.1uF 100V
R267
T
47R
GND CHASSIS GND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY sc
The Audio Partnership . SAP15N/P POWER AMP
Gallery Court 2. SHEET TITLE DATE
LONZoN Se1 428 3. POWER SUPPLY 11730159
Tel: +44 (0)171 940 2200 4. DRAWING No PAGE CHECKED BY
Fax: +44 (0)171 940 2233 5. AP10687/3 1/3 .
T




A500 - A500/s BOM DIFFERENCES

AP11759/1 - Additions

27/11/0015:37

LEVEL YANION PART NO DRAWING NO DESCRIPTION QTY DESIGNATOR COMMENTS

. AP11727/1 A500/s OWNERS' CERTIFICATE |

. AP11655/2 A500/s CARTON LABEL (MODEL NO.) | FOR BOX

.2 AP10209/1 CAMBRIDGE SELECTOR KNOB MK3 4 TO BE SPRAYED SILVER (PAINT SPEC AS APPROVED
BY STEPHEN YEUNG)

.2 AP10208/1 CAMBRIDGE VOLUME KNOB MK2 | TO BE SPRAYED SILVER (PAINT SPEC AS APPROVED
BY STEPHEN YEUNG)

.2 6040-010103-000 AP10028/1 CAMBRIDGE POWER KNOB 3 TO BE SPRAYED SILVER (PAINT SPEC AS APPROVED
BY STEPHEN YEUNG)

.2 6510-150241-000 Al TOP COVER (MODIFIED) | MODIFIED TO DRAWING AP10019/3, COLOUR
SPEC AS PER ESR1349

.2 A500/s FRONT PANEL (PUNCHED AND PRINTED) | PRINTED WITH ARTWORK AP11626/2 AND
AP11647/2

.3 AP10269/2 AMPLIFIER FRONT PANEL WITH RC & TD | FINISH AS PER ESR1363

.2 A500RC REAR PANEL (PRINTED) | PRINTED WITH ARTWORK NO. AP10294/1

.3 AP10276/1 AMPLIFIER REAR PANEL WITH IEC, 8RCA, 2 SPKR | FINISH AS PER ESR1349

.3 AP10246/5 CAMBRIDGE CLEAR REMOTE EYE |

4 INFRARED SENSOR SBX1910-52 | NOT TO BE COLOURED BLACK
BLUE POWER LED APPROVED SAMPLE ESRI337

.2 7003-006001-111 SCREW M3X6 S.T.P. B/H (SILVER) 9 TOP COVER TO REAR PANEL X2/REAR PANEL TO
BASE X7/

.2 7003-006001-131 SCREW M3X6 S.T.P. PW/H (SILVER) 4 TOP COVER TO BASE (L& R) X4, AS PER ESRI359

.2 BOLT M3x10 B/H 2 IEC TO REAR PANEL

.2 7003-008002-111 SCREW M3X8 P.T.P. B/H (SILVER) 10 SPEAKER TERMINAL TO REAR PANEL X6/RCA
TERMINAL TO REAR PANEL X4

AP117591 A500 . A500.s BOM Differences.xls

Descriptions are correct, please check part qunbers



A500 - A500/s BOM DIFFERENCES AP11759/1 - Subtractions 27/11/00 16:31
LEVEL YANION PART NO DRAWING NO DESCRIPTION QTY DESIGNATOR COMMENTS

A AP10463/1 AS500RC OWNERS' CERTIFICATE |

Al AP10281/1 A500RC CARTON LABEL (MODEL NO.) | FOR BOX

.2 AP10209/1 CAMBRIDGE SELECTOR KNOB MK3 4

.2 AP10208/1 CAMBRIDGE VOLUME KNOB MK2 |

.2 6040-010103-000 AP10028/1 CAMBRIDGE POWER KNOB 3

.2 6510-150241-000 Al TOP COVER (MODIFIED) | MODIFIED TO DRAWING AP10019/3

.3 6510-150241-000-XXXX CAMAI07D Al TOP COVER |

.2 AP10304/2 AMPLIFIER SUB-PANEL WITH TD & RC |

.2 AS00RC FRONT PANEL (PUNCHED AND PRINTED) | PRINTED WITH ARTWORK AP10286/1, AP10287/1
.3 AP10269/2 AMPLIFIER FRONT PANEL WITHRC & TD |

.2 AS00RC REAR PANEL (PRINTED) | PRINTED WITH ARTWORK NO. AP10294/1
...3 AP10276/1 AMPLIFIER REAR PANEL WITH IEC, 8RCA, 2 SPKR |

.3 AP10246/4 CAMBRIDGE REMOTE EYE |
.4 INFRARED SENSOR SBX1910-52 |

.3 LED TRI-COLOUR (ORANGE/RED/GREEN) 3mm | PIN-OUT AS PER AP10451/1

.2 7003-006001-111 SCREW M3X6 S.T.P. B/H (SILVER) 9 TOP COVER TO REAR PANEL X2/REAR PANEL TO

BASE X7/

.2 7003-006001-131 SCREW M3X6 S.T.P. PW/H (BLK) 4 TOP COVER TO BASE (L& R) X4

.2 BOLT M3xI0B/H 2 IEC TO REAR PANEL

.2 7003-008002-111 SCREW M3X8 P.T.P. B/H (SILVER) 10 SPEAKER TERMINAL TO REAR PANEL X6/RCA

TERMINAL TO REAR PANEL X4

AP117591 A500 . A500.s BOM Differences.xls

DESCRIPTIONS ARE CORRECT, PLEASE CHECK PART NUMBERS




A 300/ A 500 Amplifier idle current adjustment procedure

When replacing the SAP15 output pair, reset the bias current by adjusting RV201
while monitoring the voltage between pins S and E of the transistor, to achieve a
voltage of 13mV (equivalent of approx 60mA).

EEquivalent Circuit Diagram

NPN PNP

Fmitler s2sisior
Re: 0.220 Typ.

S

D f: 705t Typ.

Esviller resistor
Re: 0.220 Typ.

EDC SE ESCDB




